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TEST-I :
. Village W is to the West of village P. Village Q is to the
South of village P. Village W is mwards which direction

of village Q?

(1) South (2) South-East
(3) South-West (4) North-West
(5) None of these

. What should come next in the following letter series?
ACBDACEBDFA CEGBDFHACEG

M1 (2)B
(3)H (OB
(5) None of these :
. ‘DG'isrelated to ‘JM” in the same way as ‘PS’ isrelated to .....
(1) WY )Wz
3)UX (4) VX
(5) None of these

. Mohan walked 15 metres towards East, took a right turn
“and walked 20 metres. Again he took a right turn and
walked 15 metres. Towards which direction is he now

from the starting point?

(1) North (2) South

(3) West (4) Data inadequate
(5) None of these -

. Among P, Q, R, S and T each having a different amount of
money, R has less money than only Q. P has less money
than T and S. Who among them has the least money?

MHQ @T
3)8 (4) Data inadequate
(5) None of these

. If ‘X’ means ‘+ ‘+’means ‘-’. ‘=’ means ‘x’ and ‘-’ means
‘+’ then ....
24 +6x4—-8+4="?

(1) 12 (2) 48
(3) 40 4) 52
(5) None of these

. The positions of how many digits in the number 5821649

will remain unchanged after the digits within the number
are rearranged in descending order?
(1) None (2) One

10.

11.

12.

REASONING ABILITY
(3) Two
(5) More than three

. How many such pairs of letters are there in the
world MEDICAL each of which has as many
letters between them in the word as in the English

(4) Three

alphabet?

(1) None (2) One
(3) Two (4) Three
(5) More than three

. The position of the first and the fifth letters in the

word CRYOGENS are interchanged. Similarly
the positions of the second and the sixth letters are
interchanged and so on. Which of the following
will be the second letter from the nght end after

the rearrangement?

)y 2)C

30 4R

(5) ne of these

In a certain code TRACK is written as 41@@2
and KITE is written as ‘294%’. How is CARE
written in than code? :

(1) 1@©% (2) © 41%

(3) 41©% 4 o@1%.

(5) None of these

In a certain code BANKING is written as
'OBCLFMH’. How xs CREATED wrltten in that
code?

(1) DSFBCDS (2) FSDBCDS
(3) FSDBEFU _(4) DSFBEFU
(5) Noneof these

Pointing to a boy, Arun said, ‘He is the son of my
father's only sister’. How is the Arun related to

that boy?.

(1) Brother (2) Cousm brother
(3) Uncle g (4) Data madequate
(5) None of these .
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26.

27.

28.

29.

30.

3.

* Directions (26-28) : Following questions are based
on the five three digit numbers given below :

532 694 845 287 429

Which of the following is the second digit of the third
highest number?

13 29

3)4 4)8 .

()2

Which of the following will be the sum of the second
and the third digits of the lowest number?

(15 2)13

3)9 4) 15

(5) 11

If the positions of the first and the second digits within

each number are reversed, which of the following will
be the third digit of the second lowest number ?

(12 (2)4
(3)5 @7
(5)9

Directions (29-34) : In the following questions, the
symbols #, ©, %, 8 and @ are used with the following
meaning as illustrated below :
‘P © Q' means P is neither smaller than nor greater
than Q’.
‘P # Q’ means P is neither greater then nor equal to
Q’
‘P § Q’ means Pis nexther smaller than nor equal to
Q.
‘P @ Q’ means ‘P is either greater than or equal to Q’.
‘P % Q’ means ‘P is either smaller than or equal to Q.
Now in each of the following questions assuming the
given statements to be true, find which of the
conclusions I and II given below them is/are definitely
true and give your answer accordingly.
Give answer (1) if only Conclusion I is true.
Give answer (2) if only Conclusion II is true.
Give answer (3) if either Conclusion I or II is true.
Give answer (4) if neither Conclusion I nor II is true.
Give answer (5) if both Conclusions I and II are true.
Statements : MSK, K@F, F%N
Conclusions : . F# M

ILNO©K
Statements: H@F, F#T, T§K
Conclusions : L K#F

ILT$H
Statements :N#Y, YOT, T@D

Conclusions : . D% Y bevicpris
II.T@N i 17w £ 5%

32.

33.

34,

35.

36.

37.

38.

39,

40.
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Statements : V@D, DSR, R#F
Conclusions: L. F$D
ILR#V

Statements : F % H, H#K, K©D
Conclusions : . D$ H

ILF#K
Statements: WOB, B%R, R §J
Conclusions : L. R § W

ILROW '
Directions (35-40) : Study the following information
carefully and answer the questions given below :
A,B,C,D,E, F, G and H are sitting around a circle
facing the centre. B is fourth to the right of A who is
second to the right of H. C is fourth to the left of H. E
is second to the right of G who is not an immediate
neighbor of either B or H. D is not an immediate
neighbor of A.

Four of the following five are alike in a certain way based
on the above seating arrangement and so form a group.
Which is the one that does not belong to that group.

(1) BH (2) AC
3) GA (4) FG
(5) DF

Who is fourth to the right of G?
(1)D 2)B
(3)H @) A
(5) None of these

Which of the following pairs represents are immediate
neighbours of B? .

(1) DE (2) DH

(3) AH 4D

(5) Data inadequate

Who is second to the right of H?

()G 2B

3)A (4) Data inadequate
(5) None of these

In which of the following pairs is the ﬁrst person
sitting to the left of the second person?

(1) DB (2) DH

(3) BF (4)CB

(5) Data inadequate

Who is third to the left of C?

(HH @F

3)D (4) Data inadequate

(5) None of these

60 | IBPS - CWE-CLERK



DHANKAR PUBLI CATI ONS / Subscri be to Banking & You for

Mor e papers




DHANKAR PUBLI CATI ONS / Subscri be to Banking & You for More papers




DHANKAR PUBLI CATI ONS / Subscri be to Banking & You for

Mor e papers




DHANKAR PUBLI CATI ONS / Subscri be to Banking & You for

PRACTICE MODEL PAPERS

71.

72.

73.

74.

175:

76.

72,

Direction (71-75) : In each question below, a

sentence with four words printed in bold tvpe is given. |

These are numbered as (1), (2), (3) and (4). One of |

these four words printed in bold may be either

wrongly spelt or inappropriate in he context of the |
sentence. Find out the word whichis wrongly spelt or
inappropriate,if any. The number of that word is your
answer. If all the words printed in bold are correctly
spelt and also appropriate in the context of the !
sentence, mark (5) i.e. ‘All correct’ as your answer.

Quality (1)/is never an accident (2)/and is always the

result of (3)/intelligenteffort (4)/. All Correct.(5)

Sharad consolved (1)/ Vijay and asured (2)/ him that

his sone would return (3)/home by sunset (4)/. All

correct (5)

One of the monkeys was keeping (1)/ a track (2)/ of

the things (3)/ done by the king’s men from a

distance. (4)/ All correct (5)

The San lived in a pawned (1)/and had striking

(2)/golden (3)/ feathers. (4)/ All correct. (5)

The mother and her daughter (1)/were happily selling

milk which got them enough (2)/money to lead (3)/a

comfortable life. (4)/ All correct.(5)

Direction (76-80) : Rearrange the following six

sentences (A), (B), (C), (E) and (F) in the proper

sequence to form a meaningful paragraph; then
answer the questions given below them.

(A) On reaching inside the drum it was disappointed
to find nothing but wood and leather.

(B) One day a jackal was very'hungry and it reached
the king’s battleground in search of food.

(C) On looking for the source of the noise, it found a |
war-drum nearby and mistook it be a huge ammal
with lots of food inside it.

(D) With great difficlty it came out of the drum,

backed off and crept away to safety laughing at its
own judgement.

(E) With great difficulty it pierced the drum and
reached inside.

(F) Suddenly, it heard a loud noise and was
frightened.

Which of the following should be the FIRST sentence
after rearrangement ?

(HA (2)B
4D (3)E
Which of the following should be the SECOND
sentence after rearrangement ?
(HA YD

®C

3)cC

4D (5)F

78.

79.

80.

More papers

Which of the following should be the THIRD
sentence after rearrangement ?
(A (2)B
4)D (5)F
Which of the following should be the FOURTH
sentence after rearrangement ?

A C

(HA (2B 3)C

- 4E (5)F
Which of the following should be the LAST (SIXTH)
sentence after rearrangement ?
(1)F 2)E 3)D
4)C (5 B

81.
82.

83.
84.
85,

86.

- 87.

Direction (81-90) : Read each sentence to find out
whether there is any grammatical error in it. .The
error, if any, will be in one part of the sentence. The
number of that part is the answer. If there is no error,
the answer is (5) i.e., ‘No Error’. (Ignore the errors of
punctuation if any)

People who intend (1)/ to visit the tourist spots (2)/ are
always thrilling (3)/ to see the scenario here. (4)/ No
Error (5)

In such delicate matters, (1)/ we often go with (2)/ his
advice as he has (3)/ been handling such cases
effectively. (4)/ No Error (5)

You should think that (1)/ of all the possibilities (2)/
before you take (3)/ any decision. (4)/ No Error (5)
He was too tired that (1)/ he could not cross (2)/ the street
even with (3)/ the help of a porter. (4)/ No Error (5)
Your desire to (1)/ meet the President (2)/ without prior
(3)/ appointment. can not be fullfilled.(4)/ No Error (5)
Whenever a man attain fame, (1)/ his person qualities
are (2)/ imitated by others who (3)/ are close to him.
(4)/ No Error (5)

Rivers, mountains and deep forests (1)/ are the places
(2)/ mostly like by (3)/ people living in urban areas.
(4)/ No Error (5)

88.When we visited his office (1)/ we found that (2)/ he

89.

90.

was sipping coffee (3)/ with some of his colleagues.
(4)/.No Error (5)
For giving up (1)/ the bad habit of smoking (2)/ use of

‘chewing gum or (3)/ Similar other method can be

helped. (4)/ No Error (5)

His obviously reluctance (1)/ was viewed seriously by.
(2)/ his superiors and (3)/ he was suspended. (4)/ No
Error (5)

Directions (91-100) : In the following passage there are
blanks, each of which has been numbered. These numbers
are printed below the passage and against each, five
words are suggested, one of the which fits the blank
apropriately. Find out the appropriate word in each case.
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92.

93.

Clement Atlee became the Prime Minister of England
after the Second World War.Winston Churchill who
had successfully (91) England and the allies to victory
over Hilter was now rejected by the English people at
the hustings. Labour Party was (92) to power and
Atlee became the Prime Minister. One of his
memorable tasks was that he was (93) in granting
India its freedom. Atlee was born in a well-to-do (94)
but he always had (95) for the poor and the
down-trodden. He is known for keeping (96) and
cooperation among His cabinet colleagues. Not that
there were no differences of opinion (97) his cabinet
members, but Atlee, by is (98) nature and positive
approach, always managed to keep them together and
had control over them. (99) being sympathetic to the

cause of India, and granting India freedm, he (100) |

many a constructive activity for his country too, like
nationalization of some industries, and starting
national health Scheme.

(1) isolated (2) established
(3) conquered (4) marginalized
(5) led

(1) averse (2) close

(3) swept (4) used

(5) immune :

(1) interested (2) instrumental

* the question mark (?) in the following questions ?

101.

102.

103.

104.

105.

12.5x134x93="7

(1) 1768.75 (2) 1557.75
(3) 1757.25 (4) 1585.25
(5) None of these
14824 +124.84 +184.28 =7
(1) 457.36 (2) 547.27
(3)475.18 (4) 574.42
(5) None of these

5% ?7=2848+4

(1)1382 (2)127.5 (3)142.5 (4)152.4
(5) None of these

5800+ (32x 14.5)="?

145 (2)17.5 (@3)125 (4) 105
(5) None of these

55 % of 754 - 7% 245 = 370.68

(N2 . (215 (3)21 (4) 18 .

(5) None of these

94.
. 95.
96.
97,
98.
995

100.

106.

107.

108.

109.

110.

(3) eager
(5) particular
(1) class

(3) country

(5) community
(1) concern

(3) apathy

(5) indifference
(1) assistance
(3) harmony

(5) conflict

(1) among

(3) between

(5) with

(1) withdrawing
(3) stubborn

(5) docile

(1) Although
(3) He

(5) after

(1) demonstrated
(3) bypassed
(5) did

TEST-III : NUMERICAL ABILITY
Directions (101-135) : What should come in place of

(5) None of these

99+9+02="2
()42 (2)46
(5) None of these

(3) 55

More papers

(4) reluctant '

(2) origin
(4) family

(2) reverence
(4) jobs

(2) conviction
(4) faith

(2) within
(4) from

(2) gentle
(4) aggressive

(2) without
(4) beside

(2) imitated .
(4) observation

27
(2) P

35
W

@) 2.2

(14 -(5) V144 -10=(?)

M A7y @7
5)-7

?7+22x16=4776
(1) 6756
(5) None of these

(3)-9

(2) 6675

(4) (49’

(3) 6561 (4) 6765

24679+ 4102-2087 = 7x 30

(1) 899.9
(3) 878.8
(5) None of these

(2)889.8
(4) 898.9
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154.

155.
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157.
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TEST-1V : GENERAL
. Some banks have started issuing Biometric ATM

Cards to its customers. To which type of account
holders Biometric cards are generally issued ?
(A) Illiterates

(B) Sick and old persons

(C) Inoperative accountholders

(1) Only (A) (2) Only (B)

(3) Only (C) (4) Both (A) & (B)

(5) AlL(A), (B) & (C)

Which of the following is the currency of Japan ?

(1) Yen (2) Yuan
(3) Pound (4) Dollar
' (5) Euro

Banks are supposed to strictly adhere to the RBI
guidelines on credit card operations in India. In case the
bank does not adhere, what action can be taken by RBI ?
(A) Cancel the License of the Bank

(B) Initiate suitable penal action

(C) Lew monetary penalties

(1) Only (A) (2) Only (B)

(3) Both (A) & (B) (4) Both (B) & (C)
(5)-All(A), (B) & (C)

If PAN details are not provided, the TDS is detected at
which of the following rates ?

(1) 10% (2)20 %

(3) 10% for senior citizens & 20 % for others

(4) 10 % plus 10 % surcharge

(5) None of these

Through which of the methods GDP is calculated ?
(A) Expenditure approach

(B) Product approach

(C) Income approach

(1) Only (A) (2)Only (B) -
(3)Only (A) & (B)  (4) All(A), (B) & (C)
(5) Only (B) & (C)

'Lending to Micro Finance Institutions by Banks is

considered as finance to

(1) Non Priority Sector (2) Priority Sector

(3) Commercial Sector (4) Agriculture Sector
(5) None of these .

Which of the following was the reasons owing to

which base rate was introduced ?

(A) BPLR, system fell short of RBIs objective of
bringing transparency in lending rates.

(B) Under BPLR system it was difficult for RBI to
assess transmission of policy rates.

(C) BPLR system was not beneficial to the customers.

158.

159y

160.

161.

162.

163.

164.

AWARENESS

(1) Only (A)

More papers

(1) Only (A)

(2) Only (B)

(3) Only (A) & (B)
(5) All (A), (B) & (C)
Which of the following is/are various components/
channels of the monetary policy of the RBI ?

(4) Only (B) & ()

(A) Altering money supply »
(B) Credit availability

(C) Influencing exchange rates

(1) Only (A) & (B). ~ (2) Only (B) & (C)
(3)Only (A) & (C)  (4) Only (A)

(5) AlL(A), (B) & (C)
Which of the following depository/depositories in
India is/are handling dematerialized shares ?

(A) National Securities Depository Ltd. (NSDL)

" (B) Central Depository Services Ltd. (CDSL)
- (C) Bombay Stock Exchange (BSE)

(1) Only (A) (2) Only (A) & (B)

(3) Only (€) (4) Al (A). (B) & (C)

(5) Only (A) & (C) ‘

Which of the following is/are called Key Pohcy rates
by the Reserve Bank of India ?

(A) Bank rate

(B)Repo Rate, Reverse repo rate

(C)CRR, SLR

(1) Only (A) (2) Only (B)

(3) Only (A) & (B) both (4) Only (C)

(5) Only (B) & (C)

The loan amount incase of a reverse mortgage is

decided taking into account which of the following ?
(A) Value of House property

(B) Age of the borrower

(C) Prevalent interest rates

(1) Only (A) (2) Only (B) !

(3) Only (C) (4) AlL(A), (B) & (C)

(5) None of these :

A person returning from abroad can retain foreign
currency up to what period ? ;

(1) 60 days (2) 30 days

(3) 90 days (4) 180 days

(5) There is no such resriction

Which of the following is/are the security features of
the bank Notes used in India ?

(A) Security thread (B) Micro lettering

(C) Intaglio Printing

(2) Only (B)

(3) All(A), (B) & (C) (4) Only (A) & (C)

(5) Only (B) & (C) ;
Maximum FDI in Private Banks in India is allowed up
to the limit of
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